Name:

Date:

Week 9: Day 1

Green Forest Park’s walking trail is 3.218 km. )

long. Blue Lake Park's

trail than Blue Lake’s trail?

walking trail is 2.414

km. long. How much longer is Green Forest Park's

/2 Jasmine buys a box in
the shape of a rectangular

prism. The dimensions of

the box are shown. Find the

volume, in cubic feet,

/3 Solve.
26 x 50 =

ﬁ

of the box.
N ¥ A /
(Y Whatis1.407 O_A_\/S - \f6 What is the value of T
rounded to the ' Y the expression? Use the
Eiarlgisnt V‘;hu‘il?h'i‘#lzrnbe;?n a.27 x10 = decimal model to check.
a npumbgr line. 9 Shade three groups of 12
= hundredths.
3
b.6,500—‘10 B 0.12x 3
.O-
\ L AN AN %
(7 Complete the sentence with the present perfect form of the ve@/s Find words with the prefix pro- or en-. \
a. Jillian (eat) all of her dessert. | pro”= i, Togatiar e’ = withir, 16"
h
b. Dave and Mike (organize) all the 2 O 2 e
\_ Classroom library books. Y LB S L 8 ) | e T
r m t 5 u r t n e ¢]
/ q Trace. Copy. \\ f
T p r o p e | c O m u
\ A - ) /\e.n.t o m e t W n/
Name: Date: _ Week 9: Day 2
/| Select the box with a volume of 32 cubic feeb/z lvan walked 1.126 km. on Monday. On\/é Solve. N
- , Tuesday, he walked 0.804 km. more
Box | Length | Width | Height | | than on Monday. How many kilometers did 34 x 70 =
Ilvan walk on Tuesday?
O 1| art | 21t | 4t Y
LI] 2 41t | 3ft | 4ft
> L8 NG %
(Li Solve. \/5 Draw a quadrilateral with\/6 Use the hundredths \
Zero rlght angles. Label it. chart to he|p you round
a. (2x7)x 10'": 0.39 to the nearest tenth.
3
b. 6x5) x10=
\ AN N\ 1/
(7 Complete the sentence with the past perfect form of the verb. \/8 Write the meaning of each word. N
a. | (eat) my lunch before leaving the | a. promote ,
table.
b. She (stud before she took the test.
\b. ( y) efore she took the es/ o, TOBESE :
/q Trace. Copy. \,
LA . Jc.encourage .
AN 4




Name:

Date:

Week 9: Day 3

/l What is 7.452 rounded to the nearest tenth?\
Explain your thinking on a number line.

/2 Diego buys a

box in the shape of a
rectangular prism. The
dimensions of the box
are shown. Find the
volume, in cubic inches,
of the box.

| \/3 Solve.

280 x 40 =

\

(Ll Blue Lake Park's biking X

trail is 3.54 km. long. If
Ricardo biked the entire trail
three times, how many

ﬁs Draw a quadrilateral that\/6 What is the value of
is not a square. Label it.

the expression? Use the
decimal model to check.
Shade four groups of 16

AR

./

-/

kilometers did he bike? hundredths.
0.16 x4
N AN AN
(7 Complete the sentence with the future perfect form of the verb. \/,8 Write a sentence using one of the foIIowing\
a. By tomorrow, our bird (eat) ~allof words. enforce entrust progress
its food.
b. By next week, the students (finish)
\_ their exams. W,
Copy. \
A
Name: Date: Week 9: Day 4

/| Select the box with a volume of 48 cubic feeb

/2 Riley buys a card for $1.75, flowers foh

/3 Solve.

\

) ‘ $6.89, and candy for $3.55. How much
Box | Length | Width | Height | | o6y does Riley spend in total? 620 x 50 =
L1 1 4f | 3ft | 3ft
(1| 2 | 6ft | 2ft | 4ft
> Y Y7 = <
Solve. Draw a quadrilateral that i
q . o has exactly one pair of tse t:g?ektit Decimal 7 8
. 30. = parallel lines. Label it.
a.30-56 x 10 the right. 7.48 D m
Select the =
2 whole number i o [] LJ
b. 12,000 +10 = the decimal 7.604 ] [ ]
will round to.
7.81 ] [ ]
\ I\ e, 2/
/7 Write a sentence using present perfect form of the verb dance\./8 Write a sentence using one of the following\
words. enlarge endanger protect
A )
- N -7




